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Question Number : 1 Question Id : 4387194641 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

= : x24+2x48
The range of the real valued function f(x) = | ——— is
i x242x+4

fix)= |~ AR TPRD2PV] DI00Ie AIVE), T

x2+2x+4

Question Number : 2 Question Id : 4387194642 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



If f{x) =2 — x2 and g(x) = log (1-x) are two real valued functions then the domain
of the function (f+g)(x) 1s

f(x) = V2 —x? So8adn g(x) = log (I-x)en Tod TRH Joroy DIvALrOoNS
(f+g)(x) D200k ains), DHR%o
Options :

e [2.2]

7 o ['2.* 1)

3 % (-0, 1)

4 % (1. 2]

Question Number : 3 Question Id : 4387194643 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Fori=123andj=1.2.3
If ﬂgz‘i‘b;I‘FCiz = ﬂiﬂj‘i'b;bj‘i'ciﬂj = D, Vi ij

a; dp 4as

b, b, bglthen det (AAT) =
€3 €32 L3

and A=

i=123 208030 j = 1.2.3 0D a’+b’+c] = 1, aatbbitce; = 0 Vi # j o800

a4 4az ds

A=|by by bz|esond det (AA") =
Cq Co C3

Options :



Question Number : 4 Question Id : 4387194644 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

; [ 3 —=2 6]
If}‘i=; —6 —3 2|.then
| —2 6 3.
) F 3 —2 &
IfA=; —6 —3 2| . ®ond
=2, 8 i3
Options :
%
], % iy
i RSP Le 5
2. @ BTEA

| i
A" does not exist

A JEOVS0 TE

Question Number : 5 Question Id : 4387194645 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



2
IfA= [n'r 2 ] and det (A'%)=1024. then a =
5 —a
a? 5 10
A=[5 ]mam det (A'%) = 1024 9008 a =
—a
Options :

1%'2

Question Number : 6 Question Id : 4387194646 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

5 sin®B  cos?6
Let A=|—sin?8@ -5 1 |. Then maximum value of det (A) is
cos’h 1 5
5 sin’0 cos?0
A=|—sin?8 -5 1 | ®R0etre. 824D det(A) cBng) (18R DI
cos?0 1 5
Options :
L -125
5 % 200
255



4 x 145

Question Number : 7 Question Id : 4387194647 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

iz 422 —z4i=0 = |z| =

Options :

], % 1/2

Question Number : 8 Question Id : 4387194648 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
x-1

: -1 . i
If T }3T:, = { then the true statement among the following is

x—1 v—1

Tt = o, od To83e5°D) RS DIBDI0

Options :
x<By<0

1. * E

, o X 0. v>20

3 % x>0.y<0



L% x>0, y<0

Question Number : 9 Question Id : 4387194649 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If the identity cos*® = a cos48 + bcos28 + ¢ holds for some a. b. c€@. then (a. b, ¢) =
a.b.ce@ o cos'0 =a cosdb + beos28 + ¢ 28 RELRDT" DD R, (a.b.¢) =

Options :

(1 3 1)
| % \8'8'2

(1 1 3)
) 8'2"8

(lii)
4 % 2’8’8

Question Number : 10 Question Id : 4387194650 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The number of integer solutions of the equation |1 — i|* = 2% is
RSO0 |1 — i[* = 2% awog), PTos FEde Vo

Options :

1.~'~'/1



Question Number : 11 Question Id : 4387194651 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If fix) = ax® + bx + ¢ for some a. b. ¢ R with a + b + ¢ = 3 and

10
fix +y) = fix) +f(y) +xy Vx, yeR. The > f(n) =

=l

a+b+c=3€3cﬁjég.pa.b‘ceﬁ~%u&‘o flx) = ax® + bx + ¢ 2odaiv
10

fix+y)=f{x) +f{y) +xy Vx. ye R @008 > f(n) =
n=1

Options :
| 330

Question Number : 12 Question Id : 4387194652 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The number of positive real roots of the equation 3*t1 + 37**1 = 10 is

AEGE0 3¥TL 4+ 37FHL = 10 08, BB TRD Jurerw Doy

Options :



B8]

Infinitely many

eScooddo

Question Number : 13 Question Id : 4387194653 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

i : X 1-x 13 :
The number of real roots of the equation llﬁ 4 'IT =—1s
s N

—

X I i hssman dng. SRS darere R0adg
yl-x  x 3] G -

Options :
1

1. *

Question Number : 14 Question Id : 4387194654 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



If 4" — j‘sx—}é = SX_% —2%*! then the value of x is

A% _3"'% = 3{'{_% — 277 00208 x Dend

Options :

712
1.® '

3

o
I-J

i
()

Question Number : 15 Question Id : 4387194655 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The total munber of permutations of n different things taken not more than r at a time.
when each thing may be repeated any number of tumes 1s

N D) DAYV Aol I DAPY S0l DEY.D TWROLT TAD AN A FD

TR HDy DFTV Vo] 0B

Options :

n(n™t - 1)
1 % n—1

n? +1 - 1



n(n’ —1)

(n" —1)
4% - 1

Question Number : 16 Question Id : 4387194656 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

How many chords can be drawn through 21 points on a circle?
28 JBa0 21 DodPew SV, & DotPY Wol: HBAVD D) 2°(eD
glestElRNY

Options :
105

1. *

Question Number : 17 Question Id : 4387194657 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If a polygon of n sides has 560 diagonals thenn =

n Zozrew 5OAD vz’ S8 Rosdy 560 wond n =

Options :



Lt
L

1.v

Question Number : 18 Question Id : 4387194658 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A person writes letters to 6 friends and addresses the corresponding envelopes. In
how many ways can the letters be placed in the envelopes so that at least two of them
are m the wrong envelopes?

£ 5 13 ‘

Natitionan =
Notation :D,=n| Zﬂ: =
\ i= L

208 DS DB B 6 Wed )TV TWI &ITTL AL T8 DEOT-AT

TP SHG 6T 0w, VB SV Totd EBTL BINVE $IG° God DY

';GOSDB
" n (_ 1}1

Q0P AT0; Dnzn‘.‘ >,

= i1

V=0 I. )

Options :

6 c,.D,
1. % )



6C1D5+5C0. Dﬁ

Question Number : 19 Question Id : 4387194659 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

~x*+24x%428  Ax+B Cx+D Ex+F :
- - 2 :: += f,r + —"""_ then the value of A+B+C+D+E+F =
fefe1)? & o s | (x2+1)° (x%+1)°

x¥*4+24x2+28  Ax+B cx+D Ex+F _
= &+ -+ €5 A+B+C+HDHE+
(x2+1)2 7t o el T B

Options :

-
1. % 2

-3
I

Question Number : 20 Question Id : 4387194660 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0
sin@ + sin3f .
The value of 1s
cosB + cos36

sinf +sin3f@

BRE) 2D
cosB +cos3f



Options :

%,
| % cos2f

-
, % cot2f

tan2 68

cosectH + sind

Question Number : 21 Question Id : 4387194661 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If {1+tfu1l':')(IHauE“}...(_]+tan45{"i =2" then n=

(1+tan1’ )1+ tan2’)...( 1+ tan45" ) = 2" @008, n =

Options :
0

1. %

Question Number : 22 Question Id : 4387194662 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



cosf | smf
1-tanf 1-—cotd

Options :

cosHd —siné
1. %

sinf@ —cosd
2. %

cos@+sind
3. %

(1—tan &)sin &
4. %

Question Number : 23 Question Id : 4387194663 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

: - acos A—bcos B
In a triangle ABC. ifa #b. = tcosC=
acosB—bcos 4

. s A—bcos B
ABC Qzd2085°. a # b eond, Lo 27O | osC =
acosB—bcos A

Options :

1.\'?"0



Question Number : 24 Question Id : 4387194664 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

. 4 :
If cosechx=—. thensinhx=
5

4 :
cosechxy=—es0e®, sinh x =

3
Options :
4
5
1. % °
5
2.9 4
2
3
3. %
2
5
4, %

Question Number : 25 Question Id : 4387194665 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The value of Trinuliy is

1—tanh x
1+ tanhx - 5.'{, N335
1—tanh x

Options :

X

, €
1. %



Question Number : 26 Question Id : 4387194666 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If m a triangle ABC, a=2.b=3 and ¢ = 4. then ran(*%) =

ABC @zaods’, a = 2, b = 3 2080%w ¢ = 4 eoowd, tan(4/ | =

Options :

4.



Question Number : 27 Question Id : 4387194667 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the angles of a triangle ABC are in the ratio 1:2:3. then the corresponding sides are
in the ratio

ABC Gz0220e5°0 Seren 1:2:3 DNGS° o, T°I$ LM J2oR WV
QS -

Options :

.
5
(o]

_.
bive
&

Question Number : 28 Question Id : 4387194668 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

; A B &
In a triangle ABC. 7 cot—+rycot—+rcot =

A B #
ABC &zo208" 7 cot—+7ycot —+75cot—=
Options :

s
1. %



Question Number : 29 Question Id : 4387194669 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The point of intersection of the lines 7=2b+1(6c—a) and r=a+s(b—3c) is
F=2b+1(60—a) 20Basw r=a+s(b—3¢) B0 Bokd Dok
Options :

a+b+c

b—c—6a

Question Number : 30 Question Id : 4387194670 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



In quadrilateral ABCD. AB=a,BC=b, DA=a—b,M is the midpoint of BC and X

. . + :
1s a pomnt on DM such that DX = - DM . Then the pomnts A. X and C

Ssotywe ABCD &° AB=a.BC=b, DA=a—b, BC awg) 06@odd M,

4_
DX =_DM echyer DM S X 208 Doty and A X,C Dododyen

Options :
form an equilateral triangle

RD0ETI QZ0rDY DG ETTOW

are collinear

HBDOILY 9HTAN

form an isosceles triangle

RBETTV GZ0F D) DOEOFTOW

form a right angled triangle

worE e SZ0r) DB I 0D

Question Number : 31 Question Id : 4387194671 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The vectors 3a—5b and 2a+b are mutually perpendicular and the vectors

a+4b and —a+b are also mutually perpendicular then the acute angle between

a and b is

3a0—5b 208050 2a+b e DONG Vot DAFLV, a+4b B0BoSW —a+b e ErE

D66 Loty DAFLO VOB a.b o 065§ ©H0E t0

Options :
{
= \ \
1.¢
-1 ‘
2. %
A —COos 1 | ‘
\ w’
3. %
3 '
A —CO0s
4. ®

Question Number : 32 Question Id : 4387194672 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Let a=xi+yj+zk and x=2y. If ‘(f‘ =5v2 and a makes and angle of 135° with
the z-axis then a =
a=xityj+2k 20Boin x =27 BR08emTo. ‘n‘zi\.ﬁ | 20Bosw o AP 7%

& 35 €0 135 0@ 0=

Options :
i 2\3i+/3j -3k
1.
23J6i ++/6 j —6k
2. %
o O
o 25i+5j-5k
2J5i+4/5] + 5k
4. %

Question Number : 33 Question Id : 4387194673 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Let a. b. ¢ be the position vectors of the vertices of a triangle ABC. Through the

vertices. lines are drawn parallel to the sides to form the triangle AB'C’. Then the
centroid of A4'B'C" is

a.b.c e e ABCS' ABC © Fd w6%w. ABC o Mo T deow
020 PATeSGT ADD Bud DO ED Gzbaeo AB'Ceond A4'B'C' o),

SogeTRoe

Options :



a+b+c

1% ?
a+b+c

). % <
a+b+c

3¢ 2
E(ET'E_HE‘J

4. % §

Question Number : 34 Question Id : 4387194674 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The mean deviation about the mean for the following data:

5.6.7.8.6.9.13.12.15 1s

5.6.7.8.6.9.13.12.15 0930 BT 0TS @908 G[D0H0 Aot SOGDIIBOIDD

Options :

55
% 1:%3

) 2.88

3.89

LA

4.%



Question Number : 35 Question Id : 4387194675 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A box contains 100 balls. numbered from 1 to 100. If 3 balls are selected one after
the other at random with replacement from the box. then the probability that the sum
of the three numbers on the balls selected from the box 15 an odd number. 1s

1 Aot 100 65 e ’@o&:&ﬂg oBoiercid 100 eodven ws DES” Su. Hrdd
0BV w8 ) SDTS LTSS, SBA BWAT, @D \So B8R, T SD\D
R03[® QDo 2.8 I Voad] WO WSS
Options :

|

1Lv 2

o w = | L

®
ol =

Question Number : 36 Question Id : 4387194676 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In a lottery. containing 35 tickets, exactly 10 tickets bear a prize. If a ticket is drawn
at random. then the probability of not getting a prize is.

35 860 o w8 ordS” PO dorr 10 VS S0, AIPEINSoT 8

€)3),2080 BABYHE WITVS T EoteTIS VoSS,



Options :
1/10

Question Number : 37 Question Id : 4387194677 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A bag contamns 7green and 5 black balls. 3 balls are drawn at random one after the
other. If the balls are not replaced. then the probability of all three balls being green
18

208 oD’ 7 3D S80I 5 AV Loduen SuX. 28 T SBT S FEE 3
220SOVR CITEEN S0 AVD. e BDD LoV BBH BO\D) W, & S
BrodOeT® e38000 &350335—::&35;1 rooe;ﬂéae:&

Options :
343
% 1720

21
. 36

12
3 % 35



7
4.0 44

Question Number : 38 Question Id : 4387194678 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If x is chosen at random from the set {1.2.3.4} and v is chosen at random from the

set {5.6.77}. then the probability that xy will be even is

Pad {1.234F Mol ijﬁﬁgri}&éarﬁ X A é)mgléﬂéﬁ“, 20 {5.6.7F ol
OXICsy S0l Y A DA E'IT Xy 038 ROV STHTTAS Ro[S

Options :
5

% 6

[\©)
#®
o] =

W |

4.

Question Number : 39 Question Id : 4387194679 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The discrete random variables X and Y are independent from one another and are
defined as X ~ B (16. 0.25) and Y ~ P(2). Then the sum of the vanances of X and
Y 1s

X, ¥ o3 20W) GrénE duorriow d(ded wDuTrioen  Hudoiw
X ~ B (16. 0.25) 208050 Y ~ P(2) ™ JODSROT00. @929y6 X 208aid Y o
DAyBow Ao,

Options :

4
1. %

h

2.¢

3. %

| ]

Question Number : 40 Question Id : 4387194680 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If 6 1s the mean of a Poisson distribution. then P (X = 3) =

28 JraED Derado G, @S0G 6 wawd P(X>3) =

Options :

1-25/¢®
1. ¢

o
2. %

24 25 &°



]
[F5]

Question Number : 41 Question Id : 4387194681 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A stick of length r units slides with its ends on coordinate axes. Then the locus of the
midpoint of the stick 1s a curve whose length 1s

r el TED do ¢ aws) S JEFHSTO DG FOST Gotrow. S6

06 Doty cIg); Dotd Do 2.8 SFo VOV, & HEI TED

Options :

N
1‘ 23 H‘nl

r

H mr

Question Number : 42 Question Id : 4387194682 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The least distance from origin to a point on the line v = x + 3 which lies at a distance
of 2 units from (0. 3) is

y=x+3 02 &otwr, (0.3) 0ot Tocd 0rdY Bréed’ &) DodHL Hre

Dot Aol o £33 Ardo
Options :



13 4 642

1. %

L. 104 6v2
5 x 20 62
o B= 62

Question Number : 43 Question Id : 4387194683 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Starting from the point A (-3. 4). a moving object touches 2x + v—7=0 at B and
reaches the point C (0. 1). If the object travels along the shortest path. the distance
between A and B 1s

28 SOT DA A (-3.4). DoY) Mol DVES 2x+y—T=0 B0 B bl =3
C (0. 1) Do BAV0WeH. & S SAY Arda0 T DAIrhHy, A
S08c3n B Dot 206 AT

Options :




6
ax 5

Question Number : 44 Question Id : 4387194684 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Suppose a triangle is formed by x + v = 10 and the coordinate axes. Then the number
of points (x. yv) where x and y are natural numbers. lyving inside the triangle is

x+y=10 208050 JLHTTOS 08 GIHORAD O ESVd B VRLITTDW. X
S0Boiw y m@aﬁawég@ B2 9036 arranes” Gol Dot (X.y) @ Roadg

Options :

1_&’36

Question Number : 45 Question Id : 4387194685 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

- . 2 > .
If the lines represented by ax™ + 2hxy + by + 2gx + 2fy + ¢ = 0 1intersect on the
x-axis. which of the following 1s in general incorrect

ax® + 2hxy + by” + 2gx + 2fy + ¢ = 0 2r0otd DO¥ BN X 9LAVD Dot otitIotl

Sod T D& ROY I TGS RS0

Options :

abc = 2fgh
1.



=]

= ac

- af’ = ch’

af +ch’= 2fgh

Question Number : 46 Question Id : 4387194686 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

4

For & € {D._ %} . the angle between the lines represented by

[.1‘{:059—‘1'] E{cos 6+ tan & ) x—(1—cos ﬁ.tana’jy] =0is

ae| 0;} wond [rcosf-y] [{cnst9+tana]x—(l—coaﬁ,tana’)j'_l =0 RQArdoed

Baver 206y &' ea200
Options :

o
I

Question Number : 47 Question Id : 4387194687 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0

The Locus of centers of the circles, possessing the same area and having
3x —4y+4 =0 and 6x — 8y — 7 = 0 as their common tangent. is

ROTD DF-LT(RD A Syorwsd Ix -4y +4=0 B3 6x-8y-T=0 en
G306 R0y B Bond PIATD PTUrew 9AD Jorv Serudy S5 Do

peTatubb
Options :

| % 1Zx —16y—-15=0

3x—4y+==0

2. %

12x — 16y+15=0
3.9

3x —4y— =0
4. % 2

Question Number : 48 Question Id : 4387194688 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

con s 3w :
For any two nonzero real numbers a and b if this line U T 1 is a tangent to the

circle x* + y* = 1. then which of the following is true?
a S0BoED b o0 DT PSS TRD Rowgen. E—I'% =leddwx+y=1ed
SYBANIL D6 0 oS 08 TS B DSHW?

Options :



b AN o ;
(E'E) lies mside the circle

(&,%) £9030 Do)

1. ®

(a, b) lies inside the circle

. (. b) 2088 Dot

(
(

(a. b) lies on the circle

2.

==

) lies on the circle

»

B |

»

| =

) S9500 & Do)

8| e

3. ¢

(a. b) D333 D& Dok
4. %

Question Number : 49 Question Id : 4387194689 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The length of the intercept on the line 4x — 3y — 10 = 0 by the circle

XX+ —2x +4y —26 =0 is

<+ yg —2x +4y—26=0 &3 IS0 cﬁgjgé 4x — 3y — 10=0 B E_*)oe‘_’ggoc:icp TS
Options :

I.WS

b2



Question Number : 50 Question Id : 4387194690 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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; ;Y _ , -
The pole of the line —+ E_ =1 with respect of the circle X"+ }’2 =c 18
a b

2 > X ¥
X*+y = ¢’ Sydbo Gy —+-=1 B0 3

a b
Options :
3 3
e e “
\a b
1.
/ 2
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b a)
2. %
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Vi k)
3. %
‘I." F C_- IJ
b a)
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If the tangent at the point P on the circle x* + y° + 6x + 6y = 2 meets the straight line
5x — 2y + 6 =0 at a pomt Q on the y-axis. then the length of PQ 1s

X+ ¥+ 6x + 6y = 2 2P0 G0l P Doy wo Fah 0460
Sx—2y+6=0& Q I8 ot Bk Q Dot Y- P ot PQ T
Options :

L2

L
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Suppose a parabola with focus at (0. 0) has x — v + 1 = 0 as 1ts tangent at the vertex.
Then the equation of its directive is

ws DoSwabe cws) TR (0, 0) 26 udatn o %’g;ﬁm Sl G- Bar

QLGB0 X — y +1=0ec08 ord Qo Bar 2DAEBEAD

Options :
X—=y+2=18
1. ¢ ’
S, A
g% 2T IS V
x—y+3=0



Xx—-y+4=0

4, #
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. - . ] 2 3 . . .
The eccentric angle of a point on the ellipse x™ + 3y~ = 6 lying at a distance of 2 units
from its centre 1s

X+ 3y’ = 6 03 86 850 & Docdy) & Sode Wod 2 0TI Broed

ol Do) A, a@gogn")aﬁa €30

Options :
T
1. %
T
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2.
T
3.% 7
T
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s ; 3 s
Let origin be the centre, (£3.0)be the foci and — be the eccentricity of a hyperbola.

Then the line2x—-y-1=20

28 ©3DTHVOe AING), Sodo ATrLDoIY, TFW(13.0) Jodadn &) esd

3
> BVRAVSOTTo. VI 2X—y—1=0 3 JE¥ o
Options :
intersects the hyperbola at two points
OSDT- DO Totd) DotIPL DG WociR0d
1. %
does not intersect the hyperbola
. SDT HVOITDY ototIcd
2. ¥ =
touches the hyperbola
SDTDVOIT DY) Dy TRVd
3 % o, St
passes through the vertex of the hyperbola
VSDTDVAR0 AIE), 3Ge Aol Boed
4. %
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3 . : Xy
The locus of a variable point whose chord of contact w.r.t. the hyperbola ———=5=1

2
5 33
a b

subtends a right angle at the origin 1s

2 2
v ¥

— =1 esddoduodoe ::%%‘5 28 36 Do D), 8y 23] HTrwDotIY

(]

a
i woeE o B &3 Do) A30E). DetdDG

Options :
X e
| % da 4h
[ 2 3 x_ 1_1+1,2
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O
5 % igi b g b
X _1|2 1 1
Sl e
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If the point (a. 8. -2) divides the line segment joining the points (1. 4. 6) and (5. 2. 10)

. ) 2m  a
i the rattiom : n then — —— =

i

’..ul

(a. 8. -2) @D Doy (1. 4. 6) H08cin (5. 2. 10) Docopwad 0D Saraer=y

i
m:n DinE8S Dased iy ﬂ_gz
)
Options :

-7
1. #®
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If (a. b. ¢) are the direction ratios of a line joining the points (4, 3. -5) and (-2, 1. -8)
then the point P (a. 3b. 2¢) lies on the plane

(4. 3. -5) 208050 (-2, 1. -8) Dooposn $dd d s, &S Dowgew (a. b. ¢)

900 P (a. 3b. 2¢) @93 Dot 2IA ol dwo

Options :
| % K+ E=0
x+y=272=0

2.



. x+2y+3z=0
3.

Xx-2v+3z=10
" 3
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5
The x-intercept of a plane 7T passing through the point (1. 1. 1) 1s = and the

i

perpendicular distance from the origin to the plane T 1s

5 . -
= If the y-intercept of the

plane 7is negative and the z-intercept is positive then its y-mtercept is

(1. 1. 1) Doty e U dwo w E), x-90B30 Ddoko Fablaloutt]

5

2
5

Sorododd) Aot T Serds fw wot)drdo = Swo AI0E) y-odb wotio

CB0S); TS So DOCEL 2-odd Woko FTGSS T y-WoBs Wocio
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Letf: R — R™ be a function satisfying
f(x)—x=A(constant). Vx € R™ and f(xf(y)=f(xy)+x. Vx.y.€R".

W
Then lim (f{lj’iv 1:
P (fa) -1

f(\I] —X= ;-;. {%‘Cﬁ@) Z "Ffl = R‘- mam f(xf{‘p)) :f(:ﬂ"j + . "-?' x. }s‘ = R"' @Cﬁﬂé&.}%ﬁl}

W _
f:R™ = R" 28 2300300 @308 0. €950+ T_ina {f(l’!)}/ L
()1
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%
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|
If him =/ lim x*sin =[. Then k+1=
5 'Jx +A4x2 45 e ‘3\/—

% i ™
N — ‘ 1

11_13& = = im& X sin
SN I |3V

Options :

=] eo000&, k+1[=

¥y,

1. ¢
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HEl_I}E x" log, x=0. then log 12 =

Iim x" log, x =0 00, log, 12=
n—x

Options :
Negative

mm@ésan
I

Positive

q&nﬂeﬁégm
2. %



any value between -1 and 1

-1 08030 1 B06s] BT Dewd
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I ."l.-x 1 1_—.1’ !

— =} then f'(1) =

-

If f(x)=cot™

X4 4

f(x) =cot™ 1 %

e

‘ o (1) =

Options :
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If f(x)=Max {3—x, 3+x. 6/ is not differentiable at x =a. and x = b, then |n|+|b| =

x=a. 208c ¥x=b ¢ f(x)= Max {3-x,3+x, 6] w50 TS,
e9INE |n|+|b|=

Options :
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If ¥ —2x°v* +5x+v—5=0. then at(1.1) ¥"(1)=
x'=2x"y +5x+y—5=0 wand, (L) 3¢ y'(1)=

Options :
-197
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i 2 e 2 - 1 i
If the curves y =x° — 3x” — 8x — 4 and y = 3x” + 7x + 4 touch each other at a point P
then the equation of common tangent at P 1s

y=x —3x" —8x—4 H00cdw y=3x" + Tx + 4 dzrewn, P e9d DodDE

v

R4 B0t0008 , P 3¢ €0) & 368 2L SEad0

Options :

L& x—y+1=0
5 % 2x—-ytl=
L% XHYTL=0
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If ax + by = 1 1s a normal to the parabola }-‘2 = 4px then the condition is
ax + by =1 03 2698 7' = 4px £ 9dwos) 32 200S DoAVEAD
Options :

dab=a + b’

1. =



4pab + ab’ = a’b’

- pa’ = b’ — 2pab’

L% paz—4pa=a+b
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. % X ;
The maximmum value of f(x)=——— 1s
L¥dx+x"

Fx) = ——— 0D0irdS (8500

l+4x+x
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The minimum value of f(x)=x+ is

r+2

fx)=x+ D200HIW g, SN QLD

x+2
Options :

1. % -1

]

4.
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i 3 2 ;
The condition that f(x) = ax™ + bx” + ¢x + d has no extreme value 1s

fx) =ax’ + bx’ + cx + d 25708 £3Q, (56R Dewden TETFHerAS Dabve

Options :

- b® — 4dac

5 % b” = 3ac

. b® < 3ac
b” = 3ac
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. : —cot” x
Assertion (A):if 7, = |cot" x dx. then I, +1, :LT

- i § oy
Reason (R) : |cot™ x dx :——jcot” Cxdx

- tj T
QINBSLAw (A) - [" = jcot” xdx @ond [ +1, =t =

n-1

—cot™x
— | cot™ xdx

sedeo (R): rcni" ilx =
: > ]

Options :
A 1s false. R is false

A @ﬁ@éﬂ R Eﬁ‘r’ﬁ@éo

A 1s true. R 1s true

A 2o, R "rae‘_‘?ﬂo
'l [

A 1s true. R 1s false

A RS0 , R @die
. .
3. o

A 1s false. R 1s true

A @‘539350 . R “rce:&gc
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i i

H t{ L

If Inzjtan x dx.and IC,+11+213+233+214*55+56:Z —
f&|

.thenn=

" E
- T I
= l tan” x dv. So8osw Lyt L+ 2L+ 2L+ 2L+ L+ = Z —

o _ = K

. oA n =

Options :

L
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oot x

I —(2logcosecx+sin2x) )dy =

Y s X

Options :

—2¢“" log|( cosec” x|+ C

00 i i v
—2e™ " log(cosecx)+C
2.

t: N
—2e™" log(cosecx +sinx)+C
3. %



—2¢" log (cosec x —cot x)+
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3
5 . ! t . dx
The parametric form of a curve is x=——.y=——_then J =
e | | X3y
3
t t . . dx
X= . V= Q0 HEA0 g, DTSV wand, | =
gt P Yx-3y
Options :

1 ;
?log(t‘— 1)+ C
1. =

2log(t(t*~ 1)+ C

2. %
b 0
—log ‘=—C'
£ =3

3. %
3 1.}
“log| t4— [+C
2 L.
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o
J akx® dx =
0
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Let @ and f (a < f) are roots of 18x7 -97 x +m2 = 0, f(x) = x 2, g(x) = cos x. Then
fj x(gof (x))dx =
18x" -9mx+1? =0 GIE), S a Hdosw f (a < f) ©d wdosw f(x) = x7, g(x)

= COS X, 893 908083, ff :t:(gcrf(x})dx =

Options :



2+3
&

1, .. w2 . m?
— (sin — — sin—)
4 2 9 36
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~TT

J x(sin?(sinx) + cos?(cosx)) dx =
o

Options :

/4
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i 1 2% - 3 1
a1 5 + 2% +n° ¥ 35 +n° Ll n®+n%/)
Options :

ll 3
1. % 55
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If the solution of Z—z— vlog, 0.5 =0, v(0) =1, and v(x) — k,as x — o then
=

g— ylog, 0.5=0, y(0) = 1 2&6rre Fedx — © aIDE y(x) — k
pond. N k=

Options :
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At any point (X.v) on a curve if the length of the subnormal is (x-1) and the curve
passes through (1, 2) then the curve 1s a conic. A vertex of the curve 1s

28 HEANVY BT Dot (X.y) DY HD &deDwors TP (x-1), 2boin &
380 (1. 2) Do) Arorr 'S &3 DAL 18 FOSHIW. €3 FT0EDAL a0, %g:m

Options :
1. # (1.0)

- (0. 1)

Lo ©@5)
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y = Ae* + Be %¥ satisfies which of the following differential equations?
81 308 ©ISVD LGOS’ BID ¥ = Ade* + Be 2F By HDER00B?

Options :
d?y dy

® djf 2 d X

—|—2}f =0

d%y dy
A
dx? dx >

2. %



3. % dx Zd{-i_'}

d?y dy
L dx? ¥ dx %)
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If Nsy, Np and N¢ are the number of significant figures in A = 0.001204 m.

B =43120000 m and ¢ = 1.200 m respectively then
Na . Np 08030 N 090280 S A =0.001204 m. B = 43120000 m Sododw

C=1.200m ee5° 5‘25 Roa(w DeSHen), 900D

Options :

L N‘A‘:I\ng?‘:c

« Na>Np=>Nc

_ Na<Np<N¢



Na>Np <N¢
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A car covers a distance at speed of 60 km h~'. It returns and comes back to the
original point moving at a speed of V. If the average speed for the round frip is
48 kmh—", then the magnitude of V is

w8 5260 Sodb &roed) 60 kmh~' HEE HosrBodds. © TH $68 V 248 §9
T BOIA. & Ao VOIS Wriew SE 48 km h—! es000® V H8ar080

Options :

i = g
L A0 kmh

36 km h-'
« 44kmh-'

i ik
L% 32 kmh
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A car travels with a speed of 40 km h™". Rain drops are falling at a constant speed
vertically. The traces of the rain on the side windows of the car make an angle of 30°
with the vertical. The magnitude of the velocity of the rain with respect to the car is

28 5260 40 kmh ™' 346" DALY B. G DoMYWL VMSES DD D.
s 0g), $080p 6 Tow LIS 30° Fmo BAEIDD. Bod 56
20T ;.‘:-gf:: 03..135';& oy Vo

Options :
40@ km h~!

1. ®

ﬂ km h~!

2.%\/E

-
- 80kmh

ﬂ kmh™!

4.%“6
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A projectile with speed 50 ms™" is thrown at an angle of 60° with the horizontal. The
maximum height that can be reached is

(acceleration due to gravity = 10 ms™?)

08 DOEDTI) £82 DAFoBGANS 60° S0 &8 50 msT! HEE DHaT6o.
2003 G WO B J0

(Aodosdg #¢8es0 = 10 ms ™)

Options :

| % 90.75m

) % T0.00 m

3 % 85.00 m

3 75
4 93.75m
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Two rectangular blocks of masses 40 kg and 60 kg are connected by a string and kept
on a frictionless horizontal table. If a force of 1000 N 1s applied on 60 kg block away
from 40 kg block. then the tension in string is

28 Tr6o Br(T° S0 & 40 kg 208030 60 kg GDHT"30eD (0 Tod AFIRCITT G
BLO 28 P Gord £8» DATBS WYY Gomrd. 60 kg dITEIt B)

40 kg @300 B S crder™ 1000 N &0 HOIrfedd &-de 5" 23R B[S



Options :

% 450 N

) 400 N

L % 350N

4 % SOON
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A ball of mass 0.5 kg moving horizontally at 10 ms~! strikes a vertical wall and
rebounds with speed V. The magnitude of the change in linear momentum is found
to be 8.0 kgems™". The magnitude of V is

G503 0.5 kg A0 2,8 208 £82 DIredCor 10 ms ' HEE gevoodr w8 Jend)

Fado ¢ 9 00A D08 V 248 206038, od 8o @3y 4 BT’

5576 8 kg ms ™ 90008 V HBATea50

Options :

| ¢ 6.0ms™
% 9.0ms™
3 % 26.0ms

4. % 13.0ms
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N.A Think Time : N.A Minimum Instruction Time : 0

A mass of 1 kg falls from a height of 1 m and lands on a mass less platform supported
by a spring having spring constant 15 Nm™" as shown in the figure. The maximum

compression of the spring is.

. . By
(acceleration due to gravity =10 ms ™)

Btood® Srhd Qo Byeh Loroso 15 Nm™! e [Byoh D Doolds (e g0 p8 80 lkg

Bord 1 m ool 38, Doalddt. wonid o (Roh Hog Sobusss

(o5 Sgedo, = 10ms ™)

Options :

L 2m

2, % \/Eﬂl

1 kg
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A bead of mass 400 g 1s moving along a straight line under a force that delivers a
constant power 1.2 W to the bead. If the bead is initially at rest. the speed it attains

: -1
after 6 sec 11 ms

S5oe8 400 g o &b 1.2 W B8 Sesuon EDR0E pofn Sud ol $5¢0y Sond Bhen

£ L &, i - = P oo -1 )
5B, o T8, Fxd e S @0l 6 1Sy Song wb Pod 58 ms  off

it
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N

*,

Masses m are placed at x=N. when N = 2.3.4. ... oo, If the total mass of the

1

e | ._..

system 1s M. then the centre of mass 1s
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o (B5ore M wonid o0 (5855078 SolSse

Options :



1 #a
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) % S M
1 m
3 % 3 M
1 m
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Consider a disc of radius R and mass M. A hole of radius —= 18 created in the disk
T |

such that the center of the hole 1s — away from centre of the disk. The moment of
i

mertia of the system along the axis perpendicular to the disc passing through the
centre of the disc 1s

R
SRS fe e Bolgrdy, Soltsn ol &)

Tursin R Sban (@500 M o % 84 %
. o = -

3
Qfd

w |

drdos® Bolfin Sollsn SYkey UHEN0. =dD o DY) Soin ot $orls womonr BEL
wEin SPomr ey [Pt
Options :
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13 3

— MR’
27

2.¥
% MR*
2

3. %

4 % AMR
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A hydrometer executes sumple harmonic motion when it 1s pushed down vertically in
a liquid of density p. If the mass of hydrometer 1s m and the radius of the hydrometer
tube is r, then the time period of oscillation 1s

Folts$ p e (E55as® Ethet © BREH0 b $5¢ ogs Sute SdnHHs. PE e

|Begord m Sh8cke TR Pesn {?Eg;—;ngm I wows ool el o

Options :
F=2%
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T=2g P8
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An object undergoing simple harmonic motion takes 0.5 s to travel from one point of
zero velocity to the next such pomt. The angular frequency of the motion 1s

RSt STgE delo & Ho ol 559 &% 31 Dot Hod HFY L% 38 Do
[Bdirdodbn Sty roiin 0.5
Options :

i
mrad s
1. %

2rrad s
2.9

3 _1
3nrads

=
rad s

o | =
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A projectile 1s thrown straight upward from the earth’s surface with an initial speed
V= a Vg where o is a constant and Vg 1s the escape speed. The projectile travels
upto a height 800 km from earth’s surface. before it comes to rest. The value of the
constant ¢ is

(Radius of the earth = 6400 km)

er adléao o

e

af (5553%0 V=0 Vg &0 588" J0 dendhe D6zlob. (o wiHsh Lot

(5]
e,

S0aks Vi Serabs $8) ($dto grastduo fol 800 ki o&s8% $oirdods SHms

R8s ik, Joroke o @) Deod

peeE

(ﬁvgcéavgo= 6400 km)
Options :
1

v 3

| e

e | W
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Same tension i1s applied to the following four wires made of same material. The
elongation 1s longest in

S0 @;ﬁgmda 2.8 ::-r.:s"gosff BODRED Trenrd SHw P B SJB (E.JE.T’:);L}
SOOI Aot dd. AL D8I ST GotddE

Options :
Wire of length 50 cm and diameter 0.5 mm

. 50 em T Swdain 0.5 mm TjRe (v S
1.+

Wire of length 200 cm and diameter 2 mm

200 cm TG Sodady 2 mm TR0 (o Cicle

Wire of length 300 ¢in and diameter 3 mm

300 cm T Sudodn 3 mm {0 (i Cily

Wire of length 100 cm and diameter 1 mm

100 cm Fep Sodain 1 mm JT7Re (o &
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A cone with half the density of water 1s floating in water as shown in figure. It is
depressed down by a small distance 6 (<< H) and released. The frequency of sumple
harmonic oscillations of the cone 1s

DO Fo@sses’ Do FrodS (L wE FoSTE0 D) DL’ WrHD I VS
B 6. TAD §8 &G0 § (< H) 088 38 6er6. S0 BD VO¥ T6S|S

' A
H
30°
N
Options :
1 6g 1
x| H 1
R Hr
1 3g 1
ox JH 1
2. % e
1 6g
% 2m A 2H
1. s
2l H
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Statement (A) : When the temperature increases the viscosity of gases increases and
the viscosity of liquids decreases.

Statement (B) : Water does not wet an oily glass because cohesive force of oil 1s
less than that of water.,

Statement (C) : A liquid will wet a surface of a solid if the angle of contact is

greater than 90°,

DD (A): agrj@ DBAD TCINYL ) (D DAMBVES VAW TV ) (1D
?j{l;‘sjei)mﬁ.
DISH0 (B) : AFD 008D mrerdd D6 SEBDTE dotdSot] AFD Dodons Lo

N Doons Leo ol B80S,

D3B30 (C) : 246y Ee30 90° S0l I DI 28 B0 w8 LD DETGo AVE),

eHbSw0 S BEiVA.
Options :
A B. and C are false

A B &08cin C wm@j«;&uw
1. %

A and B false. C i1s true

A Z0bodw B e e:::ae‘.‘@é;:mwT £ ?be:éé;.‘m



B and C false. A is true

B &S068cdw C e esr#a@}g;ﬁmw, A J@Ejém
3.

A and C false. B 1s true

A Sobodn C e_a“«:e:’cg;fm, B 'é:me:&?g;:m
4. %
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~ 7 . . —— .
A sphere of surface area 4 m~ at temperature 400 K and having emissivity 0.5 1s
located in an environment of temperature 200 K. The net rate of energy exchange of
the sphere 1s

(Stefan Boltzmann constant 6 =5.67 x 107 Wm™ K

Egﬁﬁi‘ﬁ 400 K bcg &y 4 m’ eHdse E?‘U?S;ﬁu: 208adw 0.5 &{Eﬁde‘_’s (o 28 ﬁﬁwﬁl
200 K &' (o DBRT70E” &odrdd. &5 fide DBITY 206 2269 ocly DO 2§
S

(DS ' SD HTogN G=5.67 - 10~ Wm™? K%
Options :

L% 3260.8 W

5 % 16324 W

2721 /
- 1.6 W

4% 42164 W
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A Carnot engine operates between a source and a sink. The efficiency of the engine
is 40 % and the temperature of the sink is 27 °C. If the efficiency is to be increased
to 50 % then the temperature of the source must the increased by

28 58 oogo a'sado, IderBrU J0cs DD BRI H. & aodo WWE),
G553 40 % Dodatn Fdersano &S 27 °C oD GLS0 50 % & DoBITI)
&r3ode g &X' dde” Doy

Options :

|« 80K

, x 120K

3 100 K

, » 160K
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A car engine has a power of 20 kW. The car makes a roundtrip of 1 hour. If the
thermal efficiency of the engine is 40 % and the ambient temperature is 300 K. The
energy generated by fuel combustion 1s

20 kW %umgéo (o) w8 T WA W8 (o) e DOITrterd AN, & T
QoRA) V), &N B3 40 % 2doin VOVTY &S 300 K eand. 200
B0 DO &S wady 3S

Options :

I, |
L 180000 KT K

240000 kJ K-
360000 kT K-!

270000 kJ K-
4. %
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The number of vibrational degrees of freedom of a diatomic molecule is
B¢ DOJTEWE ENDLY (1L SoDD DTy Bdoew

Options :

l.w{31

2.@’1
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A body 1s suspended from a string of length 1 m and mass 2 g. The mass of the body
to produce a fundamental mode of 100 Hz frequency in the string is

(Acceleration due to gravity = 10 llls_zj

1l m Ty dow 2 g G 2o°8 o w8 Ood 28 JRI) Derd Boeddd.
o°6085" 100 Hz TR0 (10 FEE Sod 08 &3 8 SabITIe8 JUred
CRRICR DRV @::55!?%“.

(Mot &qBese = 10 ms2)

Options :
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Electrostatic force between two identical charges placed m vacuum at distance of r
1s F. A slab of width — and dielectric constant 9 is inserted between these two

charges. then the force between the charges is

B Q3D 1 GrCoed” Sotd eSS Bodd ROG DA 3@5&9 DTV 206§ f’go

E.lc:ﬁa?gé e F. & Dot eso7w D06 %:uocie Sobodn Bos ?&_:U“cs:: 9 fw s
&::uém ot BTV ;ﬁ:aﬁg f’gd bméfa g0,

Options :

I.WF
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A ray 1s incident from a medium of refractive index 2 into a medium of refractive
index 1. The critical angle is

SEBID (oo 2 (L E CIrdEe Aol e Sod S6M0 ISBID oo 1 (2.88)
(o) C3rRdgo 68 DAVLMWIN B, woNd 0B &0,

Options :
30°
1. ¢

, % 60°

45°
3. %

L% 90°
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An electric dipole with dipole moment 5 * 107 C m is in the electric field of
2 x 10 NC™' at an angle of 60° with the direction of the electric field. The torque

acting on the dipole 1s

2% 10°NC™' 838 o D 806" 5« 1077 C m &@derdse fo DS Edo
&% & 60° S'a0 B Do God. AED0 P HDIBoKW erf)..
Options :

| x 97107 Nm

L% L% 107 *Nm



, o 866 1077 Nm

4 % 2.88x 107 Nm
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A capacitor of capacitance C; = 1 pF 1s charged using a 9 V battery. C; is then
removed from the battery & connected to capacitors C» and Cz of 2 uF and 3 pF

respectively as shown in the figure. Find the charge on C; after equilibrium has
reached 1s

1 iF 37009y 8900 Cr oD 33206 0 9V erpd & of 82, C1 & erd
Aot @i}baaé 2%, C=2 pF. C3= 3 uF 308 wao C; 20 H20d” drrootd
D30T SODB. DAV VO BTG C; P $DIDW

Options :

. 106
L ¢ 4510 °C

, % 3.5x107°C



5 % 25%107€

4% 1L5x107°C
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Two positive point charges of 10 nC and 12 pC are placed 10 cm apart in air. The

work done to bring them 6 cm closer is

10 nC, 12 nC S7d3250 (v DoirH2500 10 cm &rdess” &od)Hd. T8 6 cm

200 c:irrjr:sn“ 2080 DS @aﬁdmtﬁ% i 155 8

Options :

L& 8.11J
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Current density in a cylindrical wire of radmis R varies with radial distance as

B(r+r,)?. The current through the section of the wire shown in the figure is.

T do R (o 28 -rgp:an&svd a6 & DS DT Fodd angavg BrdoS Jrew
Blrtr,)’. 00800 Arcrdw, LoD HLS® WrHedM &rfo TS VDT

3@5& DTTo.

Options :

R* £Zr? xR
ol e
17 6 9

1. ¢

ookl o 3
E e . R

:r[[}——|-“ +=

) % 6 12 9

B R +1%R3 _i_rﬁR;'
3 % 12 12 9

R* £2r? R
o]
8 6 12
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A cell can supply currents of 1 A and 0.5 A wvia resistances of 2.5 Q and 10 Q
respectively. The imnternal resistance of the cell is

208 oAV 2.5 Q HBoin 10 Q D GHv (o 2o 1 A &S08odw 03 A
EJ{:&::?S& DTN DodD & DL WS, VoS DE GBS0
Options :

.1
1. % 28

% 39
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Two infinitely long wires each carrving the same current and pointing in +v direction
are placed in the x v - plane. at x = —2 cm and x = 1 cm. An electron 1s fired with
speed U from the origin making an angle of +45° from the x - axis. The force on the

electron at the mstant 1t 1s fired 1s

[B, is the magnitude of the field at origin due to the wire at x= 1 cm alone].

Dot 900 TGS (L Dot ared DATD DS DI +y 835" s0A &) D.
28 & x=—2cmHY DFEO x=1cm 3G Xy - SwoS” & D. 28 JVFTD W
20 Do) B¢ Woct U ©d Sfod, x- wfand +45° Endwn Sosndiw

DB, Dotid & VT P DIATAZWL Lo

[x= 1 cm 56 (o B S0 HrY DoY) HG VOV 0 Edo B,].

Options :

—eUB, (,ﬂ ﬁ,)
1 =]
I.'_ ‘

L 2v2
_EUBO - st
1 =1

2. % -
—eUB, . R
NG (1 — ]

3.% VO

, » —¢UBs i—1)
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Two electrons. e; and e of mass m and charge q are mjected into the perpendicular
direction of the magnetic field B such that the kinetic energy of e; is double than
that of e;. The relation of their frequencies of rotation. f; and f; 1s

m @S[O°F q BDID (0 €1 &1 B Cotd JwFT B 0T 00 ES0SS Lot
&3 DIFDLRCTAD. e (1O 35 e (1O ééé-aego:g_') ©900R & DVT AR D0
D f.,}_‘)éém:)u f; S0dcin h o :)?’q:)e_i?.

Options :

| fy=1

) % f1=2f3

Zfi = fg

3. ®

4 % —1-f1 o fg
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A compass needle oscillates 20 times per minute at a place where the dip 1s 45° and
the magnetic field 1s B;. The same needle oscillates 30 times per minute at a place
where the dip is 30° and magnetic field is Bo. Then B;: Bs is

5T S 45°. oD 0d Edo B T &) DB 28 oD o WD 8
DTS 20 godTren BRI, €3 e.*:ac:bir’l’oej AT e9d3rS Swe 30°, woi:é*’zjoe:e

£80 Bx &3) DA% w8 DI 30 SodT7Lw BAIG. wowd Bi: By Jewd

Options :



oN3:442
1293
3392

2233

4.9
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A plane electromagnetic wave travels in free space along z - axis. At a particular
: ; 3 &5 an :
point in space. the electric field along x-axis 1s 8.7 Vmi~. The magnetic field along

YV - axis 18

-

28 DIV DARCDIY oS Sbofle Ty STTeS' z - ©Eo Dol
DOHROR) 6. 28 Do) P x — ©Fo Dowd DANS Fdo 8.7 Vil eansd
Yy — 950 Dort: WODTY 08 ES Dewd

Options :

L@ 29x107°T

L x 3x107°T

; % 87x107°T

L% 3x107°T
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A coil of inductance 0.1 H and resistance 110 £ is connected to a source of 110 V
and 350 Hz. The phase difference between the voltage maximum and the current

MAaX U 15

110 V. 350 Hz 235°08 0.1 H 265 Lobaiw 110 Q HF S50 do DOELR

SOHTC. 40K ST, (18R DS DITFIS Doy ST BB

Options :
| % tan~ ' (1.5)

5 % tan"! (0.5)

- tan 1(1.73)

4 tan™" (2)
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If the average power per umt area delivered by an electromagnetic wave is
= . . . . - . 3
9240 Wm ~. then the amplitude of the oscillating magnetic field in EM wave is

28 DEBADIY 0 BOofe DITER PTOOS w6d Bod oS F 208

9240 Wm ™ £90% & 3G0(ios” S0 oI 0 Edo CINE), SoHD HOS

Options :
4.4 T



6.6 uT

2. %

3.8 nT
3.¢¥
L% 102 pT
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; i : -3 —2 : B e
A beam of light with intensity 10 " N m ~and cross sectional area 20 cm” 1s incident
on a fully reflective surface at angle 45°. Then the force exerted by the beam on the
surface 1s

S3% 107 Nm™~ 00050 @ 6030 20 cm’ 60 508 Dozdnd KoY
DT°DCE Bwop 45° Emodd” HDo DD . VAN & Bwo STod QoW
<DRoH eowdw

Options :

—15
% 23x107PN

. ~14
_ 1.33 10 N

3 % 6.67T%x107°N

~15 71
4'39.-’1x10 N
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The metal which has the highest work function in the following 1s

$08 T°IS" ABRD DAoL (ADAD S I

Options :
Cesmum (Cs)

Saode (Cs)
1. %

Sodium (Na)
J'éodoo(Na)

Aluminium (Al)

e&wﬁﬁbﬁ}a‘bo{ﬂlj

Platinum (Pt)

é‘&f}:‘bcfPt}
4.
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13.6
n’
energies required to excite the electron in hydrogen atom to (a) its second excited

state and (b) 1onized state respectively

eV then the

Energy of a stationarv electron in the hydrogen atom 1s E=—

6 13.6
TERD DOATHE’ TS JUTS 3§, E=-——F oV wowd & pEad
: e n°

D62rmPY” JUFTD B (a) Todd &B2S J98 oI (b) BoNILEH PSS

£B2S DOBERS SOV FLRD DR,

Options :
% (@)~10eV,(b)13.6eV

~ 12 eV 3 7
- (a) ~ 12 eV. (b) 13.6 eV

,x @~12eV. ©) 106V

4 % (a) ~8eV. (b) 13.6eV
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I R -"|.
The graph of /n ‘ — 1 versus /m A is

o/

where R 1s radius of a nucleus. A 1s its mass number. and R, is constant

i1

|':' R !
In —n |- I (A) o 2o ADD D RLET 80

9E)¢¢ R = Bog8 T(Fo, A= S20°F Vo), Ro= S0°082
@ o



Options :
A straight line

R0¥ O

A eircle of radius R
R J°(FQ o0
S ez .

A parabola

peiortul-blawhle

An ellipse
&G B0
po A
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Output of following logic circuit 1s

2o &), Seocdrees” DG Dend

A —T>
B

|
e >—
| ) —

A
B— >
Options :
(A+B)+(A+C)+(B+C)

1. ®



(A+B).(A+C)(B+C)

(A+B).(A+C).(B+C)
3.¢

(A+B)-(A+C)-(B+C)
4. % '
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The maximum number of TV signals. that can be transmitted along a co-axial cable
1s

D520 Se0eS GO DRBoAdA (188 TV RoSore oy

Options :

L% 100

R
2. v 125
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If Ax is the uncertainity in position and Ad is the uncertainity in velocity of a particle
are equal. the correct expression for uncertainity in momentiun for the same particle
1s

208 Sto CIVE) gf-aaeﬁ" 003\ BS0. AX D50’ I BSBC0. AT DIATIS, B
SE8 (53] D0 T BBL0 £ VoLIoBO) VEADD VASGEI..
Options :

mi

4N\ 7

I

L |

1a | =

1
2N mr
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The number of radial nodes. angular nodes of a 4f- orbital are respectively

4f- e303¢785 & BN, Eodoh J& o Roa{R SR

Options :

L 0.3

-
2. % L2

hat

#®
k-2
i

-2
=
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Lithium shows diagonal relationship with element ‘X" and aluminum with Y. X and
Y respectively are

OHoDo X 90 Jurwde & A. eI Y 0 Jurese & R0 S8 DotIotso)
DEBFrow. X, Y e SRR

Options :

L Mg. Be

5 % Be. Mg

3 % Na. S1
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The correct order of the metallic character of the elements Be. AL Na. K is

Be. AL Na. K Jorose &5 :aoge,:'n;.‘};ﬁuo A8 PotroBotdd DB Svo.

Options :

. K = Na =Al > Be

K= Al =Na = Be
Al=K >=Na > Be

Na =K =Be = Al
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Choose the correct option from the followmg
Sob TS LBV DDNT'I) DA FAIW

Options :

KF 1s more covalent than KI

KI 8063 KF £ 2200302005 3065 25690 8,
1. %
SnCly 1s less covalent than SnCls

SnCly $o&3 SnCly £ DAEFBAOL 306 VE Lo BL) D
2. %



LiF 1s more covalent than KF

_, KF 08 LiF £ 220032000 0206 0560 D695
3.9 -

ZnCls 1s less covalent than NaCl

NaCl €083 ZnCl, £ HI0Ar2Doh e &0 GECRS)
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The bond lengths of C,. N, and B, molecules are X;. X, and X; pm respectively.
The correct order of their bond lengths 1s

Cs. Nj. B, ess0 e 2306 ngf e Sddmr X, Xo Xs pm. T8 eod Qgéa} RO
So
Options :

X’-‘,;:X:‘}X
L T

” X=X Xy

2.
3.
4 % Xl - }9.3 - };.2
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Among the gases a. b. ¢. d. e and
f. the gases that show only

positive deviation from ideal / C
behavior at all pressures in the

graph are z e &
a, b. c. d. e Hbasw f @D g e f"”:{fﬁ
ToSHwes” D md & SC50 o i - f

RAETHE0 Aol B ITuT Y \/

JFSI HA0IToW.

Options :
b. ¢ only
- b. ¢ &g

b. c. a only
b. c.a Srado

d. e only
d. e Srddo

d. e. fonly

d.e. f Srado
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The statement related to law of definite proportions is
DOROT S Vo278 Dotroed) VPO T=(d] DA?

Options :

The ratio of oxygen in H,O and H,O, with respect to fixed mass of Hydrogen atom
is a whole number

Dgfﬁ TEBD HATEC0 Do, H,O 20dain H,0, e’ e.aéba& QG 28 g

o
n]can‘:l.

% of oxygen in H>O is constant irrespective of the source

&S FTIE Vorotio Tt HHO & 658120 780 (%) D6
_— . .

Equal volume of all gases at the same temperature and pressure should contain equal
number of molecules

AT ﬁgﬁgw DETO SS. VATD 2IDBITE0 (O TS’ vtV SEEY

3 % AT,

Matter can neither be created nor destroyed.

ﬁm“g“:}i Ry220tIET 500 0830 DFeDBOG I
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What are the oxidation states of three Br atoms 1 Br:Og molecule
Br;Og e960)e5° 205760 Br D63 e)0 58808 2e30e0 DD?

Options :
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Identify the reaction/process i which the entropy increases.
Joti’ 2BF BE[/DE0R Motiddw.

Options :
H(g)+H(2) — H:(2)

1. %

H>O (g) — H20 (s)

2. %

s » HO ()= HO0 (@

A (g) + B (g) + C(s) —2D(s)

4, %
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Statel = State2 = State 3

(T =300K" (T =300K) (T =300K
|
P=15har P=10bar P="S5har

linole | | 1lmole - lmole ]

Above shows a cyclic process. Calculate the total work done during one complete
cycle.

(Assume a single step to reach the next state).
,@a@ = fgﬁ Z E2 ’S@ 3
(T=300K)| (T=300K) (I=300K)
P =15bar P =10bar P =5bar |

|
lmole | | 1lmole | | lmole |

26 2,8 BS0H DD BFDE. wE BEoeS” BBAD DS HIAD T8, 0t

(Sc0D0 %@D WIS 208 Wowd DEIBVGR LAVS AVAW)
Options :

52 :
| % 25/3 L bar
-25/3 L bar

50/3 L bar

-50/3 L bar

Question Number : 132 Question Id : 4387194772 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The formation of ammonia from its constifuent elements 1s an exothermic reaction.
The effect of increase temperature on the reaction equilibrium is

w&r&iﬁcﬁr, 7o) LS JTTLTSEY Aok mdbma& 28 &) WS WO “@mm%@

S’ &y WO agﬁgé;@: Do),
Options :
The rate of the forward reaction becomes zero

DB 365 Few WD) ©PHBE.

No effect of temperature.
%%ﬁﬁ@ e D0 Eoltitl).

Forward reaction is favored

. DB Sl DT 0 VDot

3.
Backward reaction 1s favored

S8 SIS T\ 270 Dot
4. X

Question Number : 133 Question Id : 4387194773 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Equal volumes of 0.5 N acetic acid and 0.5 N sodium acetate are mixed. What 1s the
pH of resultant solution? ( pK, of acetic acid = 4.75)

R0 DodDdSTee o 0.5 N S esdvo 0bodw 0.5 N Taoo QN LA
SO0, D6y @50 pH Do ? (DDOS esdv0 i), pK, =4.75)
Options :

|k 485



Question Number : 134 Question Id : 4387194774 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What are X and Y respectively in the following reactions

od mdgué‘" X .Y 20 S0 207
X +D-0 - (D, +P

¥ +Dh0 2 CDy + Q
Options :

1. %

) % BEEC1._45LI4{:13
AlCs. CaCs

W CHCQ. Ah(:;

Question Number : 135 Question Id : 4387194775 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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Assertion (A):- MgS0Oy 1s readily soluble in water

Reason (R):- The greater hydration enthalpy of Mg™™ ions overcome its lattice
enthalpy.

D \d3w (A) - MgSO, DS SO SE0Be8

w600 (R) - Mg™ ©00ird 088 T80 Jomrdy 20s Jomrdy  ©83RE.
Options :

A and R both are correct and R 1s the correct explanation of A.

A 2580320 R a0 8ot 2B Hodain A S0 R 20030 DS
1. ¥

A and R both are correct but R 1s not the correct explanation of A,

A 208030 R 20 8ocd 280D 572 A 20 R 280 DoH6e seev.

A 1s correct but R 1s not correct

A 2BEHHS 5 R DT00IBS .

A 1s incorrect but R 1s correct

A DBAHLAS 570 5 R 20owdd.

Question Number : 136 Question Id : 4387194776 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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Identify A and B from the following reaction

& 300 tO[S” A 20B0sw B 0 foBoetdec:

NaNO, ——> x4+ yB



Options :
NaNO»,
L aNOz. O

) % NHEO. 1\:01

Na,O. NO

L% Na. NO,

Question Number : 137 Question Id : 4387194777 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct statements about Boron.

L It has high melting point.

IL. It has high density.

II1. It has high electrical conductivity

IV.  B-10 isotope of it has high ability to absorb neutrons

507D £ Vooot) VBTV T{IRR BB,
I A28 s 3D852 Do Gotod
II. &8 988 Fodd aﬁe.uoé
I &8 9BS DS TIPS Gotnod

IV. B-10 o3¢S 00 ArgerS §5go0.
Options :
I, II only
I II &orado

1. ®



11, III only

I, TIT 283
2. ®

III, TV only

. 1L IV 283

I, IV only

I IV 378
4. &

Question Number : 138 Question Id : 4387194778 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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Which of the following tetrahalides does not exist?

S0l BErIFUE ©S5° IO Vo T?

Options :
L% CCls
SiCly

PbCly

4. L

Question Number : 139 Question Id : 4387194779 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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The correct order of acidity of the following is

Sofd T 6@@59 £ RoZolotdd MBI So

OH OH
= |’]‘>~x
i )
OCH,

| I i

Options :

L% II=I1>1

5 % =01

3 [=11=III

L% I=I1=1I

Question Number : 140 Question Id : 4387194780 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The compound or ion which is not aromatic in the following is
S0B ToIe5° @ VA Yo ST LIOIrS 8 2S SA?

Options :

»
1. # N



Question Number : 141 Question Id : 4387194781 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The number of network solids and ionic solids in the list given below is respectively

$od 2D’ ARy VS DO DT S080iw 9odrds A ::.Lc:“ge.a R0
DGO

H>0 (ice), AIN, Cu, CaF. diamond, MgO, CCly, ZnS, Ag, NaCl, SiO;
Options :

| x B8

2.%*“3‘4

Question Number : 142 Question Id : 4387194782 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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If molten NaCl contains SrCl, as impurity. crystallization can generate

B0® NaCl &° SrCly 20950 (impurity) 1= éot3, 0985680 2BNVNE DEEJD.

Options :
Anionic vacancies

DDAITD arPew

Cationic vacancies

F003D a7 Qe
2.

Metal excess defects

9838 575 570

Metal deficiency defects

57 §'6ed &5°D0

Question Number : 143 Question Id : 4387194783 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

At T (K) x g of a non-volatile solid (molar mass 78 g mol ™) when added to 0.5 kg
water, lowered its freezing point by 1.0°C. What is x (in g)? (K: of water at T(K)=
1.86 K Kg mol™)

T (K) 96 x g © 02730 D5°0o (2rerd 83073 78 g mol ) 0.5 kg © Jedé
EDBIDNE. T&D LODBHD F0. 1.0°C 8fod. x (g 0&°) doad? (T (K) 56 HOd Ks
Dews 1.86 K Kg mol™)



Options :
10.48

20.96
2.¢

41.92

5.24

Question Number : 144 Question Id : 4387194784 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A) : Blood cells collapse when suspended in saline water

Reason (R): Cell membrane dissolves in saline water

DB S0 (A): DT T’ 68 SETwd Got)DIYE ) HIJ~0W.

5690 (R): 563 6 DO rdtse &° S6B008.
Options :

Both (A) and (R) are correct and R is the correct explanation of A

(A), (R) 20 Boco 280D, (A) £ (R) 28cA Do
1. #

Both (A) and (R) are correct. but R is not the correct explanation of A

(A), (R) &0 Bocd 2BEHAD 57 (A) £ (R) 2000 D506 5°¢0
2. %



(A) is correct but (R) is not correct

(A) 2BELAE 57 (R) 2OMAE 5760
3.9
(A) 1s incorrect but (R) 1s correct

(A) 2838 50 573 (R) 2OHE
4. %

Question Number : 145 Question Id : 4387194785 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The reduction potential of hydrogen electrode at 25°C in a neutral solution is ( Py, =
=1 bar)

25°C 26 28 SR T dea0es’ ERS JOEE L0800 TEJaLS (py, = 1 bar)
Options :

0.059V

1. %
-0.059V
3 -0.413V

4 % 0.0V

Question Number : 146 Question Id : 4387194786 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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The rate constant for a zero order reaction A— products 1s 0.0030 mol L' s How
long 1t will take for the initial concentration of A to fall from 0.10 M to 0.075M?

A— So3raTrien ©d T $aros wEsy Gt Horoge 0.0030 mol et A

D]J.}SET FGo2s e 0.1 M to 0.075M £ e‘.‘éﬁé&‘“bé Dodd STLo 5’.}%_',139‘.’905:‘3‘.:?

Options :
10 s

Question Number : 147 Question Id : 4387194787 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The diameters range of colloidal particles is approximately.

S'orand serw a“_tijﬁ*’e.: DB TN

Options :
- 1 to 1000 mm

1000 to 2000 mum
2000 to 3000 mm

3000 to 4000 mm



Question Number : 148 Question Id : 4387194788 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Photographic plates are prepared by coating emulsion of which of the following n
gelatin.

2OGD S SBADD S8 B IHVD W WPST QFL TE' THS HY L SoIr®
B

Options :

- AgBr

CuBr
nB;

FeBr

4, %

Question Number : 149 Question Id : 4387194789 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What are x and v in the following reaction?

S0 WO X OAW ¥ e DD?

xPb,0, — yPbO+ O,

Options :

- xX=3.v=6
1. %



Question Number : 150 Question Id : 4387194790 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): HCI gas 1s dried by passing through concentrated H,SOs.

Reason (R): HCI gas reacts with NH; that gives white fumes

Q3ydo (A) : HCl oo e ﬁw%@é e3:00 TP(T° Dodot) :}ggﬁf}ﬁo B

s*6820 (R) : HCl Sradnsd) NH; S o6 262 896 Tod 2i008.
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)
. A 2080300 R e Sotdd 28005 £S08030 A 80 R 2o 2o,

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)
\,x A 2080300 R &0 Sodd R0 <Sudodn A £0 R 25ows DO6t ST,
2. %
(A) Is correct but (R) 1s incorrect
3 % A DBonAG 5 R 2000 57,
(A) Is incorrect but (R) 1s correct

A DTo00E T7d R 20owad.
4. ®



Question Number : 151 Question Id : 4387194791 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The catalyst used in the manufacture of polyethylene is a mixture of

F9 969D Bosrd &° edHaIrRo &d 6% B8 B[

Options :

| % Ti. Al(CH:)s

, % T1. CH;MgBr

5 % TiCls. Si(CHs)

4 TiCl4. AHC"HQ;

Question Number : 152 Question Id : 4387194792 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct related to the colours of TiCl; (X)
[Ti(H,0)¢]CI5 (V).

TiCls (X) 208030 [Ti(H,0)6]C15 (V) & Gorwss Rotiool) Sod Trehes” ATonSE
&7
Options :

X = Colourless Y = Colouored

X =0Co gA& Y = Gotb b
1.¥

X = Colouored Y = Colouored
. N=0Cotaswd Y =dofisud



N = Colourless Y = Colourless

X=0Co dA& Y = 0o SO

X = Colouored Y = Colourless

X =0Coto 808 Y = Gorb GJ&

Question Number : 153 Question Id : 4387194793 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which hormone tends to mcrease the blood glucose level in human?
R8E* 2 FEYS %08’ Hrs®E awd DodHEok?
Options :

Insulin

Do

Glucagon
drseis

2.
Epinephrine

253 38

Estrogen

Sl

Question Number : 154 Question Id : 4387194794 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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Which of the following molecules is eliminated during peptide bond formation?

y& wotfo EYEEoEt 1308 2 W ol BripEsoshhoh?

Question Number : 155 Question Id : 4387194795 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product formed from the followimng

(i) HCI/ZnCl,

%.DH - 9
A (i) Nal/ Dry Acetone

(iit) Na/ Dry Ether

808 TR LEE (Berd BakraaR) bt

(i) HClZnCl,

P OH — - '?
e (ii) Nal/ 0o DHe*S

(iii) Na/ D8 &858

Options :

Y |



) # e
j\l
{ P ;
3. % -
4. AN

Question Number : 156 Question Id : 4387194796 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

When 1-chloro butane is treated with aqueous KOH it gives P. However, when it 1s
treated with alcoholic KOH i1t gives Q. Identify the products P and Q respectively

1-5%6% 5805 so KOH & <6 26585% P & 2908, wond o0 sou$98 KOH & 3y

28BSH0 Q % aihob. P bk Q ol Stdme bodod.

Options :

P= "MMOH Q= ma—“xDH
1. #

p= ~TNF Q= &
2, %

P= T G= MDH
3.¢

p= 0N B R



Question Number : 157 Question Id : 4387194797 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product formed in the following reaction sequence

ol t‘.’:&D"a{lS_;‘.‘ch:ﬁﬁ Ei)ci:jé; DR éojrae.an?gfbl Botdod.

(i) CH3COCIK Anhyd. AlCl;
y
Hj (i) KMnO4/KOH (i) dil. HoS04

Options :

CH3
CDDH

COOH

COOH

X
HDDCJLJ

Question Number : 158 Question Id : 4387194798 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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4.¥



Arrange the following in increasing order of their reactivity for nucleophilic addition
reaction

R[SET0OE oSV BE[S” So&s TAY T WU BVS DOH $200S” VIVG L.

CHO — ks
= l
O [ Ej f =
F‘h)L‘Ph L. £ =
4 NO-
(a) (b) (c) (d)
Options :
a<b<c=<xd
1. v

2. %
c<bh<a<4d
3. %
¢ Jie B d
4. %

Question Number : 159 Question Id : 4387194799 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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In the presence of peroxide. styrene reacts with HBr to give X. When X reacted with

magnesium in dry ether followed by CO: and hydrolysis gave Y. Treatment of Y
with PCls and then next with H,., Pd-BaSO, gave Z. What 1s Z7

DUFE P0god” 205 HBr & wiSed X A adyed. X Jdo s &
2ofiy 203008 . BoTS CO, & B[ 202 20 DFNEo BoDMT Y & 646Ded. PCl;
& oo Hy, Pd-BaSO, &Y TO[ 20D Z 20 7o, Z D&?

Options :
O
A~
>
1. ¢
CHO
xj)\
L
2. %

O
ﬁﬁj/\)%“
T

3. %
HKT:TJH i
4, % e

Question Number : 160 Question Id : 4387194800 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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Arrange the following in decreasing order of their pKy, values

Sod T T8 pKy Denden &0 g30085° 36 oCl.

CH3NH>

(@)

Options :

d>a>c>b
1. %

azb>d>e
2. %

d=c>b=>a
3. ¢

(CH3)3N

(b)

o

(c)

g NHCH;

(d)



